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e | Cues | T Cred. | parta fﬁ Minutia {# units| 52 | Q=rua | SRO only Ste | Source 7. Explanation
T H 3 — — E_ K mod Quantity tha leak - 25 GPM in stem
2 H 2 S Prairie L
C and D are subset D does not tion heat
3 H 3 1 E Seabrook |bank or heat sink as do A-C.
distracter C is not plausible - revise - answer does not match
4 F 2 E Salem bank ref
5 H 2 1 1 U K bank Doas not test controllers and positi s. C, D may be correct.
6 F 2 3 E DC Cook |bank Di A, B and C are not very plausible
Overly simptistic. Not sure how they sampled the K/A for this
7 H 1 2 E Diablo C. q No distracters are plausible
Reference material does not justify answer. Mode 4 LOCA -
8 F 2 S new enter EOPs?
With t pl [ ing, A,BandD
9 H 1 3 E Braidwood [bank are not pausible
- F 1 2 E Point Beacjbank A, C and D are not plausible distracters
distracters-A,Band D-31isin A, B, Dbutnot C
1 F 3 1 E DC Cook _jnew ans)-doall 3 have to leak into the 32 header?
12 F 2 S DC Cook _[bank
13] H 2 3 E Prairie bant Modify stem per Brown
14 F 2 E new Could D be correct? Why are B and C plausible?
15 H 2 12 E Braidwoodlbank A [s not plausible. Whyis D ible? References required
16] F 3 1 [3 Diablo Canlbank SRO question? C may be correct
A is not plausible. Bis a partial answer for C. Not clear why C
17 H 3 1 1 u? new is incorract? Answer not supported by references.
18 H 2 1 E Braidwood | bank C not plausible - provide reference rial
19 H 2 1 E Seabrook _|bank Consistently capitalize "decrease” in A and C.
20] H S Prairis Islajbank
H 2 E DC Cook {bank How are A and D plausible? Provide references.
22 H 1 S Diablo Canjbank Should clarify the Rx power level in the stem
Consider providing RCS pressure value - control of pressure
quires high as well as low pressure control. Reference does
23] H 3 S new not support answer
24 F 3 1 U new Does not test reasons for EOP guid;
"A" is not plausible, KA mis-match - does not test failed fuel
25| F 2 1 1 U Seabrook_|bank monitoring equi
H 3 1 1 ] Prairie Islaibank *D" is also correct - no references provided - KA h
—1 Stem doas not ask for reason. Do you expect this level of
27 H 3 1 1 S bank knowledge from memory? Justify with LO
F 2 2 E A and D are not plausible? Check LO
references - need 1o see step 4.2.3, Testing subsequent
28| H 3 ? S tions from memory
E 2 1 2 E A and B are not plausib}
3 H 1 2 1 E A and B not plausible - may conflict with another questi
A and B not plausible - C could be correct (timing) - need
2 H 1 1 1 E references to document answer
3 H 2 S simplistic - right answer is to frip the plant
4 H 3 S no reference provide to support answer
simplistic - B, C and D not plausible - as temp increases -
H 1 3 E OTDT/OPDT stays the same?
36 H does not substantiate answer - bus 3A powered?
37 H 2 A and D not plausible - ges rec jed
38 [ F
A and B not ~RCStamp | for open SDV? -
H 1 2 E clarify "partially open - no references provided
B and D not plausible. Are we sure that C Is not correct? No
40| H 2 S references provided?
41| H 2 1 E Millstone _|bank “[A"and C not plausible.




[Band C not plausible. Answer given away in question 43 -
421 H 1 S Robinson_{bank LODA1
Filter douse valves not in CSS lineup. No time or sequence
43 F 1 E Ginna bank %grovlded for C and D.
44 H 2 1 S new
45 H 3 S new need rofe ial to t answer
KA is incorrect - Question history used at Dlablo Canyon - but
46 F 2 2 E new considered new?
if a Zurn strainer is like a travelling screen, the the K/Ais < 2.5
BUT they cite a leaming objective. Note there is a problem
47 F 4 s new with the KA catalgous on system 076 K2s.
Would the reactor trip on loss of instrument air? Would this
affect the answer? Charging flow increases if HCV-142
48] H 3 U new closes?
491 F 2 3 new Simplistic but OK need references to validats
50 F 3 S new
Add the word “valve” to “C" - need references - IAW
51 F 2 E new procedure?
Does not match K/A - does not address impact on RCS - typo
52 F 2 U Braidwood | bank on MANUAL - need reference material
If no rod motion is assumed, how does the reactor trip? - will
53 H 2 E Byron bank SGWL shrink out and cause a Rx trip
No correct answer. A and D are not plausible, C may be
correct (need more references) - add correct nomeclature for
switch and add distracter for common alarm buzzer on/off
54 E 3 2 new toggle switch
55 H 2 3 B Val[bank \Why are A, B and C plausible?
A, B and D are not p 7 - provide ref to
§6) H 1 3 E d)bank support answer
Why are A and B plausible? Are asking for knowledge of DC
57 H 3 2 Kewaunee|bank ower to MOVs?
581 H 3 Beaver Valjbank
59 F 2 Palisades_|bank |simplistic
Should B be enhanced? 1/2 way can be a an less-than
descriptive thing. The suction piping extends only 6 ftinto the
60 F 2 1 E Millstone |bank pool - the fuel has at least 23 ft of water over the tops.
61 H 2 S Seabrook |bank simplistic - provide reference
Why Is C piausible? How would inserting a control rod cause
62| H 2 1 E Indian Polrjbank Tave to increase?
B not plausible. B - how is removing air from door seals a
|ptausible? D - you have "apply air to door seals” in 2 places D
3 F 2 1 E Braidwood |bank may be correct?
4 F 3 S Robinson {bank
5 E 2 S Palisades |bank provide references fo justify answer
6| H 3 S Davis Besgbank No correct answer. Reference indicates C Is correct?
Is the aux boiler required to be operable? Does exclusion 5
67 F 3 u Milistone _{mod ’agglx?
68 H 3 1 E Point Beag}bank Di D notp le - change to test hi temp isolation
69 F 1 E Robinson _|bank Simplistic - no reference provided
70 H 3 S Turkey pol no reference provide to support answer - 2 coect
A is also correct - B is probably not correct for the conditions
specified - C is implausible and the reference provided does
71 H 3 1 U K bank not support why D is wrong?
72 F 3 E bank simply stem
C is not plausible. You would never enter ES-0.1 directly.
73 |HF 2 2 E K bank Replace B
74 F 3 U Kewaunee|bank Why is D not correct? 2 correct answers
75 F 3 S iBeever Vallbank
Totat 75 23 31 75 75
F 32 427% ) 10 13.3% 54 bank
H 43 57.3% E 38 50.7% 2 mod
100.0% s 26 34.7% 19 new
? 1 1.3%
100.0% 75
Bank 72.0% Beaver Valley
New 25.3% Beaver Valley
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1. 3. Psychometric Flaws 4. Job Content Flaws 5. Other
2.LOD 6.
o (LF(l)l:<) S Cred Job- Back UIES
Fozums Cues | T/F Dri:t: Partial L‘I)nk Minutia|#/ units; w‘; rd- Q=K/A | SRO only Site Source 7. Explanation
I-‘1-5 H 3 - B — - S 'Eeaver Va|bank
A and C are not plausible - were plausible on the original bank
question. Question was RO level in bank. Did not provide
761 H 2 2 U Kewauneejmod copy of original question.
77 H 3 1 S Beaver Valbank D is possibly correct - E2 has priority over E3
B, C and D not plausible? - recommended changes for stem
78] H 2 2 1 E Braidwood|bank and times
Not clear how load list reference supports the answser?
79| H 3 S new Provide reference to show LD isolates
Not SRO question - not tied to 10CFR55.43 or appropriate for
80 F 4 1 U new SRO test
Answer is not correct - should be D because CSFs do not
apply until step X of E-0 - except for FR-S.1 which is
separately transitioned, Not supported by reference
81 F 3 S Sumry bank document? Provide references
82| H 2 2 E Kewaunee|bank Distracters A and B are not plausible
83 F 3 1 E new need reference material Att 1 and 2
"Modification® no longer matches the K/A, Need additional
84 H 3 1 S Ginna bank reference to validate answer. - provide referrence
C is not plausible. Do you expect applicants to know CSF
85| H 4 1 E new numbers from memory (< red path?).
C & D not plausible - energizing backup heaters nota
86 H 3 1 2 E San Onofrdmod plausible operator action - will energize in automatic
87 H 4 1 u new Does not test K/A - TS Bases - the bases are all the same
Distracter B not credible - starting a condensate pump when
you have lost a feed pump? Why???? Distracter C and D ard
88| H 4 2 E new the same thing
Distracters A is very similar to B - differentiate! Why expect
89 H 3 2 E Salem bank them to know from memory.
90| H 3 2 E new Why is A wrong? Why are C and D plausible?
91 F 3 S new
92| H 3 S new May duplicate an RO question?
What is the significance of the "CHANNEL FAILURE" alarm?
93| H 3 E new Need more referenices. B and C not plausible?
Too simplistic - of course you need an RHR/LPSI pump - need
94| H 1 E new to see reference to understand objective
95| H 4 S new Verify answer is comect
96 F 3 S new Capitalize FIRST
Distracters B and C are not plausible - and has a typo (31 Sl
971 H 3 2 u new pump instead of 33 SI pump
98 F 2 S Braidwoodlmod modified original bank question - not provided.
9] H 1 S new tube rupture event in 2000 makes this easy LOD = 1.0
K/A 2.4.28 is Knowledge of procedures relating to emergency
100 F 3 1 u Ginna bank response to sabotage.
Total 26 29 1 1 0 10 0 0 0 0 4 1 26 26
F 7 269% U 5 19.2% 8 bank
H 19 731% E 10 38.5% 3 mod ’
100.0% 8 " 42.3% 15 new
? 0 0.0%
100.0% 26
30.8%

57.7%



Summary of Significant Operating Test Comments for IP 3

General comment for JPMs.

There were many steps that were designated as critical but were not. The licensee was
instructed to make changes to indicate that these steps were not critical.

Admin JPMs
Two JPMs were identical on RO and SRO exam. Licensee was informed of the need to
discriminate between license levels and therefore exam content between the RO and SRO

need to be different.

One of the above mentioned JPMs had the applicants perform actions that were contained in a
Functional Recovery Guideline. This is not appropriate material for the admin JPM section.

Shutdown margin calculation and review JPMs were removed from the test because there was
no set procedure to use as a reference in determining the acceptance criteria for a SDM
calculation. These JPMs were replaced by an overtime review JPM.

E-plan notification JPM for RO was replaced with a rad release JPM.

SRO classification JPM was modified to have applicant manually complete the notification form.

Simulator / Plant JPMs

JPM Sim-C was originally designated as an alternate path JPM but it was not. Changingittoa
normal JPM did not impact overall quantitative criteria for this portion of the exam.

JPM Sim-E had an incorrect I.C. that needed to be re-snapped.

Simulator Scenarios

The “assignment” of malfunctions to some applicant positions was revised based upon
validation to ensure each applicant met the minimum requirements.

Scenario 2 deleted a designated critical task because it was not a critical task.
- After reviewing the four proposed scenarios, the chief examiner chose to use scenarios 4, 3,

and 2 (with 1 as the back up) as opposed to the licensee’s intention to use 1, 2, and 3 (with 4 as
the back up).




